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Buneman-Boris Method
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/* by Buneman-Bris Method */

for(i=0;i<2;i++)

for(j=0;j<nmx;j++)

{

qmt = q[i]/m[i]*hdt;

/* v- */

Loz = 1.0/sqrt(1.0 - vav(vx[i][j],vy[i][j],vz[i][j]));

vxm = Loz*vx[i][j] + qmt*Epx[i][j];

vym = Loz*vy[i][j] + qmt*Epy[i][j];

vzm = Loz*vz[i][j] + qmt*Epz[i][j];

/* v’ */

Loz = 1.0/sqrt(1.0 + vav(vxm,vym,vzm));

bxg = qmt*Loz* Bpx[i][j];

byg = qmt*Loz* Bpy[i][j];

bzg = qmt*Loz* Bpz[i][j];

vxd = vxm + (vym*bzg - vzm*byg);

vyd = vym + (vzm*bxg - vxm*bzg);

vzd = vzm + (vxm*byg - vym*bxg);

/* v+ */

Loz = 2.0/(1.0 + vav(bxg,byg,bzg));

vxi = vxm + (vyd*Loz*bzg - vzd*Loz*byg) + qmt*Epx[i][j];

vyi = vym + (vzd*Loz*bxg - vxd*Loz*bzg) + qmt*Epy[i][j];

vzi = vzm + (vxd*Loz*byg - vyd*Loz*bxg) + qmt*Epz[i][j];

/* vn */

Loz = 1.0/sqrt(1.0 + vav(vxi,vyi,vzi));

vx[i][j] = Loz*vxi;

vy[i][j] = Loz*vyi;

vz[i][j] = Loz*vzi;

}
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